B.Com. 6» Semester (Hons.) Examination, 2022 (CBCS)

Subject: Indirect Tax Law
Paper: CC-14 (6.2 CH)

Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words

as far as practicable.

TR ATEF AU YN N |
AT TATST NG Oy Bad e 21 |

1. Answer any ten questions from the following: 2x10=20

a. Discuss whether GST is applicable to the whole of India excluding
J&K or including J&K.

GST OGP MR MK TN TIATS A1 OrY FAIF SR TN SRS ATAGT
(Ao P

b. Which GST is applicable in the case of supply of services from
Chandigarh to Port Blair?
F@T%CWC%@WWWWGSTW?

c. State the type of tax, duty & cess which are at present applicable to
Tobacco products. )
OINPGIS QLT (HLG O ATIGY B, BT & O7- 49 4V Rqe F41

d. ‘Tax invoice should always contain HSN codes’. Mention the
exceptions to this rule.

P BTN STAT HSN (FIG ATFT Bfow’ 2 f[NIINg fomy Srad F4I

e. State the logic behind imposing GST compensation cess.

GST ORI 77 41THR I(& [g© A

f. What do you mean by dual GST?
TS GST IATS Bl (IR




. State the manufacturers of goods on which composition scheme is not
available.

YR BN TS @S ATIGY W (T AV T AMABIANL Bl A |

. A Ltd, a football manufacturing co is located in Kolkata. B Ltd of Gujrat
is one of the selling agents of A Ltd. B Ltd sells footballs in Gujrat and
Maharashtra on behalf of A Ltd (but bills are issued to the customers by
B Ltd in its own name). On December 26, 2020, A Ltd sends 1000
footballs to B Ltd for sale on behalf of A Ltd. No consideration is
charged. State whether GST is applicable.

2SN AN TET |

I. What is the time of supply when services are imported from foreign

branch?

TV 74T (AT (TR AT 20 STIIANCEA STUI6I B2

J. A of Kolkata supplies 1000 kg of rubber brushes to B of Delhi. The

invoice value inclusive of GST is Rs 102000. The Applicable GST rate
IS 28%. Determine the amount of tax.

AT Y TRT |

. Mention two items which are not eligible for the input tax credit.

2B TGN AT I 76 (G0 S F41

. State fresh registration in relation to the availability of tax credit in
special circumstances.
RO FTa F9 G A0 Jon [NIh~ Bl FA|

. What is exclusive economic Zone?
ARG WAAGH T2BeT F?

. What do you mean by the value of taxable supply?
FACA51 AIIATR T3 Ie00 B (JRA?

. From the following particulars find out total customs duty: - (Ignore
GST compensation cess) Imported value of goods in India Rs 423379.
Basic customs duty 10%, IGST 18%, social welfare surcharge 10%.
Designing charges paid to a consultancy firm in Mumbai Rs 10000.

2SN AN TET |



2.

a.

Answer any four questions from the following:  5x4=20

Discuss how the input tax credit is allowed for payment of CGST, SGST,

UTGST and IGST.

CGST, SGST, UTGST 433 IGST WA (H(E PIolI 2446 F Gl
(NN FHT R ANCATONT RS |

. Explain the concept of taxable event. Discuss the difference between

direct tax and indirect tax.
FICIT TONT GO I B HOTTF I3 AEES AT LT
SICATHNT 4|

. Write short notes on (i) GST on reimbursement of expenses (i)

Background of customs duty.
e3R8 BIFT (14 - (i) 46 ARCMLI SAIGST (i) IR WTFHA oo |

. Discuss in brief the import procedure as per customs act.

IR ST, RN AN A7 S FLTHCA AN F4 |

. Discuss tax credit in respect of capital goods. State the inclusions in

transaction value.
35_@1*15)[ AR PTG FF G ACATON | (TN e N (T3 [
TB9S AMH TS Orad F4|

. Explain two advantages of taking registration in GST. Mention five

broad sections along with its criticisms under which services have been
classified.

GST FRIFHR 76 I[N FF1 CRCF (T A6 T st [Row Fa
RCACR STNCATONT SR (T3l Sl F<|

Answer any two questions from the following: 10x 2=20

Discuss the features and GST liabilities of composite and mixed supply.
YT 8 A SRR (IF18T TR K¢ GST PRI ACATHN] P |



b. Discuss the various duties as provided in the Customs Act of India.

OO IR ®T SR [IOF YN W, SN E AN F |

c. Discuss in brief the provisions of section 18 regarding availability of input

d. There are 2 members from central Govt. (CG) and 31 members from State
Govts. (SG) in the GST council. All the members have attended GST
council meeting. Consider the following detail:

tax credit in special circumstances.

Sbr N U P ROV GRCT 20 I QNI TOTol ST=TE SIS

N[CATENT P

Case | Members who cast votes Vote No of members Total no of
no in favour against abstained members
CG SG CG | SG CG SG
1 2 14 0 14 0 3 33
2 2 18 0 6 0 7 33
3 2 15 0 4 0 12 33
4 2 31 0 0 0 0 33

Determine the weighted votes in favour of resolution in each of the
above independent case and also comment whether the resolution can
be said to have been passed.
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